
SAP ABAP table MCVTTSB {Reference Structure for MCVTTS}

MCVTTSB

MANDT [CLNT (3)]

TKNUM [CHAR (10)]

ROUTE [CHAR (6)]

VSART [CHAR (2)]

INCO1 [CHAR (3)]

KNOTA [CHAR (10)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

WERKA [CHAR (4)]

LGORTA [CHAR (4)]

KUNNA [CHAR (10)]

LIFNA [CHAR (10)]

KNOTZ [CHAR (10)]

VSTEZ [CHAR (4)]

LSTEZ [CHAR (2)]

WERKZ [CHAR (4)]

LGORTZ [CHAR (4)]

KUNNZ [CHAR (10)]

LIFNZ [CHAR (10)]

TDLNR [CHAR (10)]

LGNUMA [CHAR (3)]

TORA [CHAR (3)]

KUNABLA [CHAR (25)]

LGNUMZ [CHAR (3)]

TORZ [CHAR (3)]

KUNABLZ [CHAR (25)]

SDABW [CHAR (4)]

SKALSM [CHAR (6)]

ABLAND1 [CHAR (3)]

EDLAND1 [CHAR (3)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 MCVTTSB-KUNNA = KNA1-KUNNR 

0..N

{0,1}

 MCVTTSB-KUNNZ = KNA1-KUNNR 0..N

{0,1}

KNVA

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

ABLAD [CHAR (25)]

 MCVTTSB-KUNABLA = KNVA-ABLAD 
0..N

0..N

 MCVTTSB-KUNABLZ = KNVA-ABLAD 0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 MCVTTSB-LIFNA = LFA1-LIFNR 
0..N

{0,1}

 MCVTTSB-LIFNZ = LFA1-LIFNR 0..N

{0,1}

 MCVTTSB-TDLNR = LFA1-LIFNR 

0..N

1

T000

MANDT [CLNT (3)]

 MCVTTSB-MANDT = T000-MANDT 0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 MCVTTSB-LGORTA = T001L-LGORT 
0..N

0..N

 MCVTTSB-LGORTZ = T001L-LGORT 0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MCVTTSB-WERKA = T001W-WERKS 
0..N

0..N

 MCVTTSB-WERKZ = T001W-WERKS 0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 MCVTTSB-ABLAND1 = T005-LAND1 
0..N

0..N
 MCVTTSB-EDLAND1 = T005-LAND1 0..N

0..N

T173

MANDT [CLNT (3)]

VSART [CHAR (2)]

 MCVTTSB-VSART = T173-VSART 
0..N

{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 MCVTTSB-LGNUMA = T300-LGNUM 

0..N

0..N

 MCVTTSB-LGNUMZ = T300-LGNUM 

0..N

0..N

T30B

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTOR [CHAR (3)]

 MCVTTSB-TORA = T30B-LGTOR 

0..N

0..N

 MCVTTSB-TORZ = T30B-LGTOR 

0..N

0..N

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 MCVTTSB-SKALSM = T683-KALSM 

0..N

0..N

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 MCVTTSB-INCO1 = TINC-INCO1 

0..N

{0,1}

TVKN

MANDT [CLNT (3)]

KNOTE [CHAR (10)]

 MCVTTSB-KNOTA = TVKN-KNOTE 

0..N

{0,1}

 MCVTTSB-KNOTZ = TVKN-KNOTE 

0..N

{0,1}

TVLA

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

 MCVTTSB-LSTEL = TVLA-LSTEL 

0..N

{0,1}

 MCVTTSB-LSTEZ = TVLA-LSTEL 

0..N

{0,1}

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 MCVTTSB-ROUTE = TVRO-ROUTE 

0..N

{0,1}

TVSAK

MANDT [CLNT (3)]

SDABW [CHAR (4)]

 MCVTTSB-SDABW = TVSAK-SDABW 

0..N

0..N

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 MCVTTSB-VSTEL = TVST-VSTEL 

0..N

{0,1}

 MCVTTSB-VSTEZ = TVST-VSTEL 

0..N

{0,1}

VTTK

MANDT [CLNT (3)]

TKNUM [CHAR (10)]

 MCVTTSB-TKNUM = VTTK-TKNUM 

0..N

1


